Rall No,

e A
. Code MNo.
Series SSR/2 No. §4/2/2
orE H.
# Pleage check that this question paper contains 8 printed pages + 2 Maps.
o Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.
® Please check that this gquestion paper contains 26 guestions.
® Please write down the serial number of the question before attempting it.
o A S OH W T I i e 98 84 2 welE # |
o NUH-TI W e FE F R R T wE T # oE Sne-qEE & s W |
o FuW wie # A w9 wvTm H 26w € |
o U NI W IW fe@ar yE FA A W, 5 F wAE oy ol )
GEOGRAPHY (Theory)
e (Segf~ae)
Time allowed : 3 hours Maximum Marks : 70
fife w8 woe i@y & : 70

General Instructions :
i) There are 26 questions in all,
(it) All questions are compulsory.
flit} Marks of each question are indicated against it

fiv)  Questions number 1 to 10 are very short answer questions carrying I mark each.
Answer to each of these guestions should not exceed 20 words,

v} Questions number 11 to 20 are short answer gquestions carrying 8 marks each.
Answer to each of these questions should not exceed 80 words,

i) Questions number 21 to 25 are long answer questions carrving 5 marks each. Answer
to each of these quesiions should notl exeeed 150 words.

fvit) Question number 26 is related to identification or locating and labelling of
geographical features on maps,

(viti) Outline maps of the World and India provided to you must be attached within your
answer book,

iz Use of templates or stencils for drawing outline maps is allowed.
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(o) YT TE 18 10 0F T Gg-3 A AT & W FoAm IT W1 0% & | §
g yeiw g3 7 I 20 Vil § SifuF & A g el |

) T ST 11 @ 20 7% G-I AT ¥ & SR ¥ohw T F 3 3% & 1 ¥
Tl 99 1 3% 80 Vil @ Sy F1 a6 e AR |

il g T 21 T 25 G% @3 a6 WA 8 ok 5w v % 5 3% & 1 5 9
vt qvT &1 39 150 Ve § A(GS @ ART & G |

(wit) qo7 @ 26 TARE W RT Tv dhifs owvi # vewEd @ Rt Gan sk
JaiET T & HarEd 8 |

(viii) maﬁm%ﬁﬁﬁ?&rmﬁﬂa&mﬁaﬁ-gﬁﬁrﬂmmﬁmﬁm
(x)  dEr-uEfaT @R % fad atel o @fer & g @i s & Sl 8

1. Deline the term ‘noise pollution’, 1

‘efy wemer v A wftam @fe

2. Namo the cities located at both the terminals of National Waterway No. 1 of India. |

LG T 1 B r e A O e s A e e S

3. Name the Indian railway zone having the highest earnings from passengers. i

qifFdl o watfes 3 9w FH4 ge qRAE Ve & A 3aEy |

4, Name any two fossil [uels. 2x ! =l

favdl 21 Siad B4 & AW FORT |

6. Give any two examples of ancient towns of India. 2x -;.=I

81 A 1 B 1 - O 3 et B

6. Name the first million city of the world. 1

faya % Uad TR fAfem fedl =1 A Fay |

7. Which type of rural settlement pattern develops along a road, railway line, river, canal,
et 7 1

Hew, Yo @R4, A9, 76, 3 & i W oy afed & oshe ey fawha
& g ?

8. Which is the most important riverine inland waterway of Russia 7 1

g & Tailts FeEy dE i SeEn she 2

9. Which are the two types of intensive subsistence agriculture ? Exé =]

e frale B % & R FAE § 2
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10. Why is the number ol pastoral nomadics decreasing in the world 7 Explain (he main

reason for it

fga # woEr yEREl & e @ 92 W@ ? SO Y99 S0 WE Sie |

11. Why ia conservation and management of water resources essential in India ? Explain any

three reasons.

dx1=43

qAA W S HEEAT 1 HE0T 3R gEee R sEvEs 8 2 el di9 e sl wWE

Wit |

12, Compire mixed farming with dairy farming in three points,

fifya #fy & gern 28 s F @9 fsge # Hif

dxl=3

13. The map given below shows an important shipping canal of the world. Study it carelully

and answer the guestions that follow :

Dot of Hve Adke

Simbillpwein

’..’_‘/ Lagueig -

e Ship Canal
== Railways
—— Fresh Water Canal

km EI-_[I 0 515 Km

® Al Bz

& Sudr

Hir-Masean Lake »

(13.1Y Name the country through which this canal passes.
(13.2). Which two seas are connected by this canal ?

{13.3) Write two points of importance of this canal

64/2/2 3
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— AT AW
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—— A U & A

fe 5 : et A

wut few Al # FER Fous weepl sEet T fomd W R 1 sEs e
AT gaE frefoiEg 99 & I e

(13.1) ¥ e o T9 | et 8, 3G T 7980 |
(13.2) 9% 78 fom o 9 &1 Siga 2 2
(13.8) 9 78 1 "ed o g # f&ag |

Note ; The following question is for the Blind Candidates only in fiew of €. No. 13
dz ;. [AEfGfET 3y F90 givgT TOanaa & 60 93T 55w 13 & Wi WE

What are the three major types of inland waterways of the world ? State three factors
on which the development of inland waterways depends. 3

AR H SicfiE Somen & oG 758 YEN SAE & 7 39 A S0 @ deod st e
W Hidltw Femn| & fGeg ol S 2 |
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14.

15.

16,

17

1B.

19.

Explain three basic differences between rural and urban settlements of India: dx1=3

arE F T S anie sfEE § dF S SR W ST |

Explain any three problems of urban settlements of developing countries of the world. 3x1=3

fova & fammgvie et & i afed & R 9 el @ e s |

Which are the two types of ports based on location ? Write any two features of each type
ol port. 1 49=1

sfiafy % IR W S ¥ D T FEY € 2 yEs R % g A @i
fagmyand fefan |

Which is the longest transcontinental railway in the world ? Write any four
characteristics of this transcontinental railway line. 14+2=3

faye ¥ TR o GREENGE teme @E @ 2 W URHemE e o #d A
fergiwand wamen |

Iow has degradation of cultivable land become a serious problem in India ? Explain it in
three points, with examples, Y l=d

o & Fe-Ara g w1 e R s i gren a1 o @ 2 e g
i fargell A g8 wE i |

Name the three approaches introduced in 1970s in human geography. State the main
feature of each approach. 1}: +1 i =3
T i B 1970 F G0 § wifEE A ST H AN AR | TR T H e
el WAl |

. What is environmental pollution ? State the four types of pollution, with examples from

India. 142=3

TafeRDT A FA R 2 WRA ¥ F9EO &d g% 9K WEN % Ng G oo i |

. What is human development 7 Explain with examples the four pillars of human

development in the world. 1+d=h

wﬁ&mw%?@nﬁwm%mmﬁmﬂﬁﬁmﬁml

“India’s international trade has undergone a sea-change in recenl years.,” Give fve
arguments in support of this statement. Axl=b
‘s % ST S # e §9 49 8 uEe hEed gan 8 1 §W eE A g A
ue T Eie |
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23. Btudy the data given below in the table and answer the questions that follaw : F+2=5
Religious Communities of India, 2001

2001
Ieligious Groups Population | % of Total
(in million)
IMindus 8276 805
Muslims 1382 135
Christians 24-1 23
Sikhs 192 19
Buddhists 8:0 0-9
Jains 42 04
Others 66 0-6

(23.1)  Which roligious community occupies the second place in the total population of
India ? Name a State and a Union Territory, where the people of this community
ure in majority,

(23.2)  Which is the smallest religious community in India ? Name the three states where
this community is mainly concentrated.

ﬁ%aﬁm%mmmmaﬁzﬁmﬁﬁaﬁm%mﬂﬁm:
wrd § efifes wEm, 2001

2001

s T | e T &

(za wm@ ) | wfwew
feg 8276 805
HiETH 1382 135
B 24-1 2.3
faeE 19-2 1-9
GIr 8:0 0-9
S 4.2 04
B 66 06

(23.)) 0 S THEE ARG F T SGET A 0 WF 2 7 0% Ut 3R um
ﬁﬁ-mmﬂm-aﬂwaﬁmw%ﬁma@m%:

(23.2) NG F HA 2T GffT GEE S 2 ? 3 1 T & AW =aee 5 g
TR F [en: G550 8 |
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Naoie : The following guestion is for the Blind Condidates only in liew of €. No. 23

He :  fEfET 5w saw ey wietEa ¥ T 3y gew 23 % =T wod

Name the five religious minority groups in India. Mention any one state where each of
these religious groups is mainly concentrated. 2.& +2; =5
W 3 WT 9 Al O Oifhe SeEeEs gaeEl § A aney | S R v s
TR % eGS0l Jre fFE Us TS W AW ARy |

24, What are the major objectives of the New Industrial Poliey of India, 1991, State any six
meakures initiated within this policy, 2+3=h I

qid & A siteife Hifd, 1901 %y st #@ B2 gw AT & sl wiv e
m fEdl W IUEl & I Fifew |

25. What ig the importance of tourism ? Explain with examples the four [actors ol tourisl

atlractions in the world, L+d=5
wiad @ @ wew 8 2 fave A wden semim & AR SRS & 3wl efen we
CalE

26. (26.1) In the given political outline map of the World (on page 9), four features are
shown as A, B, C and D. Identify them with the help of the map legend and write
their correct names on tho lines marked on the map. A L =2

(26.2] On the given political outline map of India (on page 11) provided to you, locate
and label the following with appropriate symbols : 3= 1=4

(i}  The state having the lowest growth rate of population
(ii) The northernmost international airport
{iii} The software technology park of Madhya Pradesh

(26.1) f&U TN HER F USHiaE {@-AEET (T2 9 W) § W GEW A, B, C IR D
femme 7 @ | wfe 3 S0 5 FEEE § 3% Teaie S AwfEs § A s
T 39 R % FE A fafe

(26:2) YS! feU T WRE & TeHiGE W@-FAEEE (I8 11 W) F fefaiaa &t e
sugw fagl g feeny 3k 9% am fafan .
(i) AT SEEE s o 9 T
(i) HeE IO SEEE FAE-um
(i) WET YSY S Gigedd S U
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Note :
qe :

(26.1)
(26.2)
(26.3)
(26.4)
(26.5)

(26.1)
(26.2}
(26.3)
(26.4)
(26.5)

654/2/2

The following question is for the Blind Candidates only in liew of Q. No. 26,

fFrafefas gv7 #a0 gioeiT TO@eal & g ¥od Je3 26 % & W &8 |

Name the major sea-port located on the eastern coast of South Africa.
Name the international airport of Germany.

Name the Indian state which has the lowest growth rate of population.
Which is the software technology park located in Madhya Pradesh 7

Name the northernmost international airport of India. Hul=h

efiur andE % gdl 72 W fd g agd-gea @ AW aas |
Wil F SeEY wEE-TEE W AT AR |

W F G T gt @ A e w0 AW AR |

wey weyy ¥ figm wiveda swaifE o #e @ 2

A & EH I SIAUEE wEE-unT & AW aG69E |




~ For question no. 26.1 ¥7q H. 26.1 fem

WORLD - Political
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., For question no. 26.2 I H. 262 & 'rFIT!

Qutline Map of India (Political)
AR &1 T@1- s (TS fae)
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.

B4/2/2 i1




